€RGODANI®

’ FOR ADVANCED WELDERS, /'
[ J

PLASMA TORCH PARTS

REPLACEMENT PARTS SUITABLE FOR: TRAFIMET®

TRAFIMET® A81

ITEM CATALOG NUMBER DESCRIPTION STD. QTY

01001/KIT
03050LT
03150LT

TORCH HEAD COMPLETE WITH HANDLE
HAND TORCH, 6 m (20 FT) LEADS - 1/8 G
HAND TORCH, 12 m (40 FT) LEADS - 1/8 G

TRAFIMET®A101

ITEM CATALOG NUMBER

01071/KIT
03070LT
03170LT
03071LT
03171LT

DESCRIPTION STD. QTY

TORCH HEAD COMPLETE WITH HANDLE

HAND TORCH, 6 m (20 FT) LEADS - 1/8 G

HAND TORCH, 12 m (40 FT) LEADS - 1/8 G

HAND TORCH, 6 m (20 FT) LEADS - EURO CONNECTOR
HAND TORCH, 12 m (40 FT) LEADS - EURO CONNECTOR

TRAFIMET® A141

=Y CATALOG NUMBER

01091/KIT
03090LT
03190LT
03091LT
03191LT

DESCRIPTION STD. QTY

TORCH HEAD COMPLETE WITH HANDLE

HAND TORCH, 6 m (20 FT) LEADS - 1/8 G

HAND TORCH, 12 m (40 FT) LEADS - 1/8 G

HAND TORCH, 6 m (20 FT) LEADS - EURO CONNECTOR
HAND TORCH, 12 m (40 FT) LEADS - EURO CONNECTOR

TRAFIMET® A151

=Y CATALOG NUMBER DESCRIPTION STD. QTY

02001/KIT
04050LT
04150LT
04051LT
04151LT

TORCH HEAD COMPLETE WITH HANDLE

HAND TORCH, 6 m (20 FT) LEADS - 1/8 G

HAND TORCH, 12 m (40 FT) LEADS - 1/8 G

HAND TORCH, 6 m (20 FT) LEADS - EURO CONNECTOR
HAND TORCH, 12 m (40 FT) LEADS - EURO CONNECTOR

Ergodani isin no way affiliated with CEBORA® .The parts advertised for sale are not genuine CEBORA® parts, but are parts made for and by Ergodani.
Reference to CEBORA® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine CEBORA® partsin place of Ergodani parts.

83



€RGODANI®

/ PLASMA TORCH PARTS
. A
REPLACEMENT PARTS SUITABLE FOR: TRAFIMET®
S 30°/ S 45°

e 3

DESCRIPTION

1 CSPR105 ELECTRODE 10

2 CSPE106 SWIRL RING 5

3 CSPD102-10 TIP @ 1.0 10

4 CSPR110 ELECTRODE 20-30A 10

5 CSPD116-08 TIP 0.8 20-30A 10

6 CSPR106 EXTENDED ELECTRODE 10

7 CSPD103-09 EXTENDED TIP 0.9 10

8 CSPD116 NOZZLE RETAINING CAP 1

A 53®/ S 54®

ITEM CATALOG NUMBER DESCRIPTION STD. QTY

1 CSPR105 ELECTRODE

10

2 CSPE106 SWIRL RING 5
3 CSPD102-10 TIP 1.0 10
4 CSPR106 EXTENDED ELECTRODE 10
5 CSPD103-09 EXTENDED TIP 0.9 10
CSPD103-10 EXTENDED TIP 1.0 10

6 CSPC105 RETAINING CAP (A 53) 2
7 CSPC115 RETAINING CAP (S 54) 2
8 CSCV33 SPACER CROWN 2
9 CScvas SPACER SPRING 10
N/S CS51861 CIRCLE CUTTING ATTACHMENT 1
N/S CS51817 CUTTING GUIDE 1

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

84



€RGODANI®

’ FOR ADVANCED WELDERS, /'
[ 4

REPLACEMENT PARTS SUITABLE FOR: TRAFIMET®
A 60°

PLASMA TORCH PARTS

— \ \\ ¥
\ \
( \ \
\ 5 \ =
\ — \
\ \ \
e \ \
| el
s \ | o
\ S5
: - 1
6
3
8 7
ITEM CATALOG NUMBER DESCRIPTION STD. QTY
1 CSPR107 ELECTRODE 10
2 CSPE107 SWIRL RING 5
3 CSPD105-10 TIP 1.0 10
CSPD105-11 TIP1.1 10
4 CSPR108 EXTENDED ELECTRODE 10
5 CSPD106-09 EXTENDED TIP 0.9 10
CSPD106-12 EXTENDED TIP 1.2 10
6 CSPC105 RETAINING CAP 2
7 CSCV33 SPACER CROWN 2
8 CSCVv28 SPACER SPRING 10
N/S CS51861 CIRCLE CUTTING ATTACHMENT 1
N/S CS51817 CUTTING GUIDE 1
A 60°

-

ITEM CATALOG NUMBER DESCRIPTION STD. QTY
1 CSPF107 KIT “A 80" FOR REPLACING “A 60"
COMPLETE WITH :CONSUMABLE PARTS “A 80"
HANDGRIP

END FITTING FOR “A 60" CONNECTION

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

85



€RGODANI®

’ FOR ADVANCED WELDERS, /'
[ 4

REPLACEMENT PARTS SUITABLE FOR: TRAFIMET®

PLASMA TORCH PARTS

A 80° /P 80®

14

ITEM CATALOG NUMBER DESCRIPTION STD. QTY

N/S CSPA170 HAND TORCH COMPLETE WITH 6 m CABLE (3/8 G) 1
N/S CSPA1402 HAND TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR) 1
N/S CSPA180 MACHINE TORCH COMPLETE WITH 6 m CABLE (3/8 G) 1
N/S CSPA181 MACHINE TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR) 1
1 CSPF119 70° TORCH HEAD 1
N/S CS04280/C HANDGRIP WITH MICROSWITCH 1
2 CSPF120 180° TORCH HEAD 1
N/S CSTP61 MACHINE HANDLE 1
3 CSEA125 O-RING 20
4 CSPR107 ELECTRODE 10
5 CSPR109 ELECTRODE LONG LIFE 10
6 CSPE107 SWIRL RING 5
7 CSPD105-10 TIP 1.0 10

CSPD105-11 TIP 1.1 10

CSPD105-12 TIP 1.2 10
8 CSPR108 EXTENDED ELECTRODE 10
9 CSPR115 EXTENDED ELECTRODE LONG LIFE 10
10 CSPD106-10 EXTENDED TIP 1.0 10

CSPD106-12 EXTENDED TIP 1.2 10
11 CSPC115 RETAINING CAP 2
12 CSCV0201 SPACER FOR CONTAC CUTTING 2
13 CSCV33 SPACER CROWN 2
14 CSCv2s8 SPACER SPRING 10
N/S CSPF107 KIT FOR REPLACING “A 60" 1
N/S CS06880 AIR AND POWER CABLE 6 m (3/8G-1/4G) HAND MACHINE TORCH 1
N/S CS51861 CIRCLE CUTTING GUIDE 1
N/S CS51817 CUTTING GUIDE 1

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

86



€RGODANI®

’ FOR ADVANCED WELDERS, /'
[ 4

REPLACEMENT PARTS SUITABLE FOR: TRAFIMET®
ERGOCUT® A 81°/ AUTOCUT® P 81°

PLASMA TORCH PARTS

=Y CATALOG NUMBER DESCRIPTION STD. QTY

N/S CSPA1400/1404 HAND TORCH COMPLETE WITH 6 m CABLE (3/8 G - 1/4G) 1
N/S CSPA1402 HAND TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR) 1
N/S CSPA180 MACHINE TORCH COMPLETE WITH 6 m CABLE (3/8 G) 1
N/S CSPA181 MACHINE TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR) 1
1 CSPF0140 70° TORCH HEAD WITH HANDLE 1
1/A CS04280/C HANDGRIP WITH MICROSWITCH 1
2 CSPF0120 180° TORCH HEAD 1
N/S CSTP61 MACHINE HANDLE 1
3 CSEA125 O-RING 20
4 CSFH0560 DIFFUSOR 5
5 CSPR109 ELECTRODE LONG LIFE 10
6 CSPE107 SWIRL RING 5
7 CSPD105-10 TIP 1.0 10
CSPD105-11 TIP 1.1 10
CSPD105-12 TIP 1.2 10
8 CSFH0561 EXTENDED DIFFUSOR 5
9 CSPR115 EXTENDED ELECTRODE LONG LIFE 10
10 CSPD106-10 EXTENDED TIP 1.0 10
CSPD106-12 EXTENDED TIP 1.2 10
11 CSPC115 RETAINING CAP
12 CSCV0201 SPACER FOR CONTAC CUTTING 1
13 CSCV33 SPACER CROWN 1
14 CSCv28 SPACER SPRING 10
N/S CSPH0130/0132 AIR AND POWER CABLE 6 m (3/8G-1/4G) 1
N/S CS51861 CIRCLE CUTTING GUIDE 1
N/S CS51817 CUTTING GUIDE 1

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

87



€RGODANI®
'€J //A PLASMA TORCH PARTS

REPLACEMENT PARTS SUITABLE FOR: TRAFIMET®
A 90°/ P 90®

e o e e e . A e

R L S :
i % é [“} ] Il"I
=

. 1" 12 12
PN R S, Jog O T o -/ o

|

I

L

-

1
27 ' 5 25

S o

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

88



€RGODANI®

FOR ADVANCED WELDERS,

Z

PLASMA TORCH PARTS

REPLACEMENT PARTS SUITABLE FOR:

TRAFIMET®

ITEM CATALOG NUMBER DESCRIPTION STD. QTY

A 90° / P 90°

N/S CSPA109

N/S CS06051

N/S CSPA209

N/S CS06151

N/S CSPA110

N/S CSPA111

N/S CS06750

N/S CS06751

1 CSPF109

N/S CS07301

N/S CS07301.20

2 CSPF115

N/S CS03310

3 CSEA131

4 CS60085

5 CS06004

6 CSPR101

7 CSPE101

8 CSPD101-11
CSPD101-14
CSPD101-17

9 CS06005

10 CS52538

11 CS51159

12 CS51159.14
CS51159.17

13 CSPC109/111

14 CSPC113
CSPC113/V

15 CSCVv23

16 CSCV39

17 CS51952

18 CS51911

19 CS51950

20 CS51951

21 CSCVo08

22 CS51974

23 CSCV09

24 CS51959

25 CS60380

26 CS60381

27 CSCVv11

28 CSCV12

29 CSCV1i14

30 CSGR60

31 CS60368

N/S CS04224

N/S CS04234

N/S CS04222

N/S CS04232

N/S CS51851

N/S CS51807

HAND TORCH COMPLETE WITH 6 m CABLE (M14X1)

HAND TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR)

HAND TORCH COMPLETE WITH 12 m CABLE (M14X1)

HAND TORCH COMPLETE WITH 12 m CABLE (CENTRAL CONNECTOR)

MACHINE TORCH COMPLETE WITH 6 m CABLE (M14X1)

MACHINE TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR)

MACHINE TORCH COMPLETE WITH 12 m CABLE (M14X1)

MACHINE TORCH COMPLETE WITH 12 m CABLE (CENTRAL CONNECTOR)

70° TORCH HEAD

HANDGRIP COMPLETE WITH SWITCH
SWITCH

180° TORCH HEAD

MACHINE HANDLE

O-RING

FRONT INSULATOR

AIR DIFFUSOR

ELECTRODE

SWIRL RING

TIP 1.1

TIP 1.4

TIP 1.7

EXTENDED DIFFUSOR

EXTENDED ELECTRODE

EXTENDED TIP (MAX 50A)

EXTENDED TIP 1.4

EXTENDED TIP 1.7

RETAINING CAP

CONTACT RETAINING CAP - FIBER GLASS
CONTACT RETAINING CAP - MAX. LIFE
SPACER FOR CONTACT CUTTING

LARGE SPACER FOR CONTACT CUTTING
SPRING HOLDER PROTECTION NUT
SPACER SPRING (FITS OVER CS51952)
SPACER FOR CONTACT CUTTING (HAND)
SHIELD (MACH.)

EXTENDED SHIELD (HAND) (MAX. 50A)
SPACER FOR EXTENDED TIPS HIGH AMP.
EXTENDED SPACER (HAND)

LOCKING NUT

SPACER W/EXTENDED SPRINGS
EXTENDED SPRINGS (FITS OVER CS60380)
SPACER SPRING

DOUBLE POINTED SPACER

SPACER CROWN

EXTRACTOR FOR SWIRL RING

WRENCH FOR ELECTRODE

AIR AND POWER CABLE 6 m (M14X1) HAND TORCH
AIR AND POWER CABLE 12 m (M14X1) HAND TORCH
AIR AND POWER CABLE 6 m (M14X1) MACHINE TORCH
AIR AND POWER CABLE 12 m (M14X1) MACHINE TORCH
CIRCLE CUTTING ATTACHMENT

CUTTING GUIDE

PR R RPRRPRRRPRPRRPLRPREPR

[l el [l = = N
OO0OO0OO0OUOOOUO BN O

[S2 ¢, RN B i

1

N oo o1 ool o1 O

=N
o o

PR R R R R ORNDN

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

89



€ €RGODANI® /
. ’ FOR ADVANCED WELDERS, /

PLASMA TORCH PARTS

REPLACEMENT PARTS SUITABLE FOR:

ERGOCUT® A 101®/ AUTOCUT® P 101°®

AT 1

TRAFIMET®

3
1 1A
4 4 3
5 i
[
I 9 )
1 ]
1
i 10
8 i |
I I
: e s
i lh_____,’l |
=, ="
I g R 8 s B
] 1 L
i ' ' ) f;
5 L | )
8
I
1 12 13 13 13
el L : 7 T
! ! ! ! 1 : i
L %, 15 1
I i i |
I %
m 16
]
I
m 1
) - U
1
1
' 17 ! UQ‘]
29 )

=1

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

90



€RGODANI®

FOR ADVANCED WELDERS, /'

PLASMA TORCH PARTS

REPLACEMENT PARTS SUITABLE FOR:

ERGOCUT® A 101®/ AUTOCUT® P 101°

TRAFIMET®

=Y CATALOG NUMBER DESCRIPTION STD. QTY

N/S
N/S
N/S
N/S
N/S
N/S
N/S
N/S
1

1/A
2

N/S

0 N O U~ W

10
11
12
13

14
15

16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
N/S
N/S
N/S
N/S
N/S
N/S

CSPA1450/1454
CSPA1452
CS06150/C
Cs06151/C
CSPA110
CSPA111
CS06750
CS06751
CSPF0145
Cso04280/C
CSPF115
CS03310
CSEA131
CS60085
CS06004
CSPR101
CSPE101
CSPD101-11
CSPD101-14
CSPD101-17
CS06005
CSPR116
CSPE103
CSPD111
CSPD117-14
CSPD117-17
CSPC109/111
CSPC113
CSPC113/V
CSCv23
CSCV39
CS51952
CS51911
CS51950
CS51951
CSCvo8
CS51974
CSCV09
CS51959
CS60380
CS60381
Ccscvil
CSCV12
CSCvi4
CSGR60
CS60368
CS04224
CS04234
CS04222
CS04232
CS51851
CS51807

HAND TORCH COMPLETE WITH 6 m CABLE (M14X1 - 1/4G)

HAND TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR)
HAND TORCH COMPLETE WITH 12 m CABLE (M14X1 - 1/4G)

HAND TORCH COMPLETE WITH 12 m CABLE (CENTRAL CONNECTOR)
MACHINE TORCH COMPLETE WITH 6 m CABLE (M14X1 - 1/4G)

MACHINE TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR)
MACHINE TORCH COMPLETE WITH 12 m CABLE (M14X1 - 1/4G)

MACHINE TORCH COMPLETE WITH 12 m CABLE (CENTRAL CONNECTOR)

70° TORCH HEAD WITH HANDLE
HANDGRIP WITH MICROSWITCH

180° TORCH HEAD

MACHINE HANDLE

O-RING

FRONT INSULATOR

AIR DIFFUSOR

ELECTRODE

SWIRL RING

TIP1.1

TIP 1.4

TIP 1.7

EXTENDED DIFFUSOR

EXTENDED ELECTRODE

INSULATING SPACER

EXTENDED TIP (MAX 50A)

EXTENDED TIP 1.4

EXTENDED TIP 1.7

RETAINING CAP

CONTACT RETAINING CAP - FIBER GLASS
CONTACT RETAINING CAP - MAX. LIFE
SPACER FOR CONTACT CUTTING

LARGE SPACER FOR CONTACT CUTTING
SPRING HOLDER PROTECTION NUT
SPACER SPRING (FITS OVER CS51952)
SPACER FOR CONTACT CUTTING (HAND)
SHIELD (MACH.)

EXTENDED SHIELD (HAND) (MAX. 50A)
SPACER FOR EXTENDED TIPS HIGH AMP.
EXTENDED SPACER (HAND)

LOCKING NUT

SPACER W/EXTENDED SPRINGS
EXTENDED SPRINGS (FITS OVER CS60380)
SPACER SPRING

DOUBLE POINTED SPACER

SPACER CROWN

EXTRACTOR FOR SWIRL RING

WRENCH FOR ELECTRODE

AIR AND POWER CABLE 6 m (M14X1) HAND TORCH
AIR AND POWER CABLE 12 m (M14X1) HAND TORCH
AIR AND POWER CABLE 6 m (M14X1) MACHINE TORCH
AIR AND POWER CABLE 12 m (M14X1) MACHINE TORCH
CIRCLE CUTTING ATTACHMENT

CUTTING GUIDE

PR PR PR RRRRR

[ = [ = N
O OO UIOUIOO O UIo Ul N O

[S2 ¢, RN B i

1

N O oo o gl o1 ©

=N
o o

PR R R RPRRPROORNN

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

91



€ €RGODAN7

PLASMA TORCH PARTS

REPLACEMENT PARTS SUITABLE FOR:
A 140°/ P 140°®

TRAFIMET®

(4]
)
i
1
!

-1
!

e i e i

—_
=

I

I

]

I

!

1

|

|

i

J

—

&

4

{

14 13

Il =, <
e et bt ot 26
W I (s | T 24
‘? | 16 @21 E 9% E
20 i ; : Nzg | %
! =, PR R &)
‘ ] | j ! E‘“ 25
30 T 1
U (=

w
=t

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

92



€RGODANI®

Z

FOR ADVANCED WELDERS,

PLASMA TORCH PARTS

REPLACEMENT PARTS SUITABLE FOR:

A 140°/ P 140°

TRAFIMET®

ITEM CATALOG NUMBER DESCRIPTION STD. QTY

N/S CSPA101

N/S CS06251

N/S CSPA102

N/S CS06351

N/S CSPA103

N/S CS06451

N/S CSPA104

N/S CS06551

1 CSPF101

N/S CS07301

N/S CS07301.20

2 CSPF102

N/S CS03310

3 CSEA131

4 CS60080

5 CS05004

6 CSPR101

7 CSPE101

8 CSPD101.11
CSPD101-14
CSPD101-17
CSPD101-19
CSPD101-30

9 CS05005

10 CS52538

11 CS51159

12 CS51159.14
CS51159.17
CS51159.19

13 CSPD101/102

14 CSPC103
CSPC103/V

15 CSCv23

16 CSCV39

17 CS51952

18 CS51911

19 CS51953

20 CS51950

21 CS51951

22 CSCVvo08

23 CS51954

24 CSCV09

25 CS51959

26 CS60380

27 CS60381

28 CSCv1l

29 CSCVv12

30 CScv14

31 CSCV13

32 CSGR60

33 CS60368

N/S CS04220

N/S CS04230

N/S CS04222

N/S CS04232

N/S CS51851

N/S CS51807

HAND TORCH COMPLETE WITH 6 m CABLE (M14X1)

HAND TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR)

HAND TORCH COMPLETE WITH 12 m CABLE (M14X1)

HAND TORCH COMPLETE WITH 12 m CABLE (CENTRAL CONNECTOR)

MACHINE TORCH COMPLETE WITH 6 m CABLE (M14X1)

MACHINE TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR)

MACHINE TORCH COMPLETE WITH 12 m CABLE (M14X1)

MACHINE TORCH COMPLETE WITH 12 m CABLE (CENTRAL CONNECTOR)

70° TORCH HEAD
HANDGRIP COMPLETE WITH SWITCH

SWITCH

180° TORCH HEAD

MACHINE HANDLE

O-RING

FRONT INSULATOR

AIR DIFFUSOR

ELECTRODE

SWIRL RING

TIP 1.1

TIP 1.4

TIP 1.7

TIP 1.9

TIP GOUGING 3.0

EXTENDED DIFFUSOR

EXTENDED ELECTRODE

EXTENDED TIP (MAX 50A)

EXTENDED TIP 1.4

EXTENDED TIP 1.7

EXTENDED TIP 1.9

RETAINING CAP

CONTACT RETAINING CAP - FIBER GLASS
CONTACT RETAINING CAP - MAX. LIFE

SPACER FOR CONTACT CUTTING

LARGE SPACER FOR CONTACT CUTTING

SPRING HOLDER PROTECTION NUT

SPACER SPRING (FITS OVER CS51952)

SPACER GOUGING

SPACER FOR CONTACT CUTTING (HAND)

SHIELD (MACH.)

EXTENDED SHIELD (HAND) (MAX. 50A)

SPACER FOR EXTENDED TIPS HIGH AMP.
EXTENDED SPACER (HAND)

LOCKING NUT

SPACER W/EXTENDED SPRINGS

EXTENDED SPRINGS (FITS OVER CS60380)
SPACER SPRING

DOUBLE POINTED SPACER

SPACER CROWN

SPACER GOUGING

EXTRACTOR FOR SWIRL RING

WRENCH FOR ELECTRODE

AIR AND POWER CABLE 6 m (M14X1) HAND TORCH
AIR AND POWER CABLE 12 m (M14X1) HAND TORCH
AIR AND POWER CABLE 6 m (M14X1) MACHINE TORCH
AIR AND POWER CABLE 12 m (M14X1) MACHINE TORCH
CIRCLE CUTTING ATTACHMENT

CUTTING GUIDE

P Rr R RPRPRPRRPRPRPRPRRPR

= = e I = N
OCUINMNNRFPR R OOOOOOU OOOOOUuU o uN O

N oo ool gal

=N
o o

R R R R R RO RrNNDN

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

93



€j CRGODAN% PLASMA TORCH PARTS

REPLACEMENT PARTS SUITABLE FOR: TRAFIMET®
ERGOCUT®A 141®/ AUTOCUT® P141°®

(BN

3
1 1/A
4 4 3
9 |
! ]
! I
I
i I 10
6 l I
1 | |
| \ oo dd] i
%7 EH
: R g et ke B ;T )
i t; | ) T [ \ [
= Q
BRSO o5 . s /12 13 13 13
| ] 1 ] I
f | .] 1 1 ] |
1 | | 1 1 1 1
ST %: 18 16 %: B rall | W ';. 14
| : | | i i :
[lws . = & &0
”i 29 ! 1 | 27
W : Pl ey 25
1 1 ]
e SRR = :
" ==, | 5 fa ol s
! T 18 ke s P U Sl s AR il
! i
1
Tl 1111
! 19 26
31 i
]
L ==
20
21 :) I (:

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

94



€RGODANI®

Z

FOR ADVANCED WELDERS,

PLASMA TORCH PARTS

REPLACEMENT PARTS SUITABLE FOR:

ERGOCUT®A 141® / AUTOCUT® P141°®

TRAFIMET®

ITEM CATALOG NUMBER DESCRIPTION STD. QTY

N/S
N/S
N/S
N/S
N/S
N/S
N/S
N/S
1

1/A
2

N/S

o ~NOO O~ W

10
11
12
13

14
15

16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
N/S
N/S
N/S
N/S
N/S
N/S

CSPA1500/1502
CSPA1504
CSPA1501
CSPA1505
CSPA103
CSPA0145
CSPA104
CSPA0146
CSPFO0155
CSs04280/C
CSPF102
CS03310
CSEA131
CS60080
CS05004
CSPR101
CSPE101
CSPD101-11
CSPD101-14
CSPD101-17
CSPD101-19
CSPD101-30
CS05005
CSPR116
CSPE103
CSPD111
CSPD117-14
CSPD117-17
CSPD117-19
CSPC101/102
CSPC103
CSPC103/V
CSCvz3
CSCvV39
CS51952
CS51911
CS51953
CS51950
CS51951
CSCVv08
CS51974
CSCV09
CS51959
CS60380
CS60381
CSCv11
CSCVvi12
CSCv14
CSCV13
CSGR60
CS60368
CS04220
CS04230
CS04222
CS04232
CS51851
CS51807

HAND TORCH COMPLETE WITH 6 m CABLE (M14X1 - 1/4G)

HAND TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR)

HAND TORCH COMPLETE WITH 12 m CABLE (M14X1 - 1/4G)

HAND TORCH COMPLETE WITH 12 m CABLE (CENTRAL CONNECTOR)

MACHINE TORCH COMPLETE WITH 6 m CABLE (M14X1 - 1/4G)

MACHINE TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR)
MACHINE TORCH COMPLETE WITH 12 m CABLE (M14X1 - 1/4G)
MACHINE TORCH COMPLETE WITH 12 m CABLE (CENTRAL CONNECTOR)

70° TORCH HEAD WITH HANDLE
HANDGRIP WITH MICROSWITCH

180° TORCH HEAD

MACHINE HANDLE

O-RING

FRONT INSULATOR

AIR DIFFUSOR

ELECTRODE

SWIRL RING

TIP 1.1

TIP 1.4

TIP 1.7

TIP 1.9

TIP GOUGING 3.0

EXTENDED DIFFUSOR

EXTENDED ELECTRODE HF

INSULATING SPACER

EXTENDED TIP 1.2 (MAX 50A)

EXTENDED TIP 1.4

EXTENDED TIP 1.7

EXTENDED TIP 1.9

RETAINING CAP

CONTACT RETAINING CAP - FIBER GLASS

CONTACT RETAINING CAP - MAX. LIFE

SPACER FOR CONTACT CUTTING

LARGE SPACER FOR CONTACT CUTTING

SPRING HOLDER PROTECTION NUT

SPACER SPRING (FITS OVER CS51952)

SPACER GOUGING

SPACER FOR CONTACT CUTTING (HAND)

SHIELD (MACH.)

EXTENDED SHIELD (HAND) (MAX. 50A)

SPACER FOR EXTENDED TIPS HIGH AMP.

EXTENDED SPACER (HAND)

LOCKING NUT

SPACER W/EXTENDED SPRINGS

EXTENDED SPRINGS (FITS OVER CS60380)

SPACER SPRING

DOUBLE POINTED SPACER

SPACER CROWN

SPACER GOUGING

EXTRACTOR FOR SWIRL RING

WRENCH FOR ELECTRODE

AIR AND POWER CABLE 6 m (M14X1 1/4G) HAND TORCH
AIR AND POWER CABLE 12 m (M14X1 1/4G) HAND TORCH
AIR AND POWER CABLE 6 m (M14X1 1/4G) MACHINE TORCH
AIR AND POWER CABLE 12 m (M14X1 1/4G) MACHINE TORCH
CIRCLE CUTTING ATTACHMENT

CUTTING GUIDE

I e N T N

N = PR R R = N
O OO0 OUIOUloOO OO O ulo ulN O

=
O g NN KPP P

N oo o ool oal

2N
o o

R R R R R R ORrNDNDN

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.

Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

95



€j CRGODAN% PLASMA TORCH PARTS

REPLACEMENT PARTS SUITABLE FOR: TRAFIMET®
R 145° / R 145 P®

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

96



€RGODANI®

Z

FOR ADVANCED WELDERS,

PLASMA TORCH PARTS

REPLACEMENT PARTS SUITABLE FOR:

R 145° / R 145 P®

TRAFIMET®

ITEM CATALOG NUMBER DESCRIPTION STD. QTY

N/S CSPA129

N/S CS06921/S

N/S CSPA130

N/S CS06931/S

N/S CSPA127

N/S CS06941/S

N/S CSPA128

N/S CS06951/S

1 CSPF112

N/S CS07301

N/S CS07301.20

2 CSPF111

N/S CS03310

3 CSEA131

4 CS60080

5 CSPR111

6 CSPE103

7 CSPD109-14
CSPD109-16
CSPD109-18
CSPD109-30

8 CSPR116

9 CSPD111

10 CSPD117-14
CSPD117-17
CSPD117-19

11 CSPC120

12 CSBW139

13 CSCV1105

14 CSPC103
CSPC103/V

15 CS51952

16 CS51911

17 CS51953

18 CS51950

19 CS51951

20 CSCV08

21 CS51974

22 CSCV09

23 CS51959

N/S CS04220/S

N/S CS04230/s

N/S CS04222/S

N/S CS04232/s

HAND TORCH COMPLETE WITH 6 m CABLE (M14X1)

HAND TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR)

HAND TORCH COMPLETE WITH 12 m CABLE (M14X1)

HAND TORCH COMPLETE WITH 12 m CABLE (CENTRAL CONNECTOR)

MACHINE TORCH COMPLETE WITH 6 m CABLE (M14X1)

MACHINE TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR)

MACHINE TORCH COMPLETE WITH 12 m CABLE (M14X1)

MACHINE TORCH COMPLETE WITH 12 m CABLE (CENTRAL CONNECTOR)

70° TORCH HEAD
HANDGRIP COMPLETE WITH SWITCH

SWITCH

180° TORCH HEAD

MACHINE HANDLE

O-RING

FRONT INSULATOR

ELECTRODE

INSULATING SPACER

TIP 1.4

TIP 1.6

TIP 1.8

TIP GOUGING 3.0

EXTENDED ELECTRODE

EXTENDED TIP 1.2 (MAX 50A)

EXTENDED TIP 1.4

EXTENDED TIP 1.7

EXTENDED TIP 1.9

RETAINING CAP

NOZZLE SHIELD

CAGE SPACER

CONTACT RETAINING CAP - FIBER GLASS
CONTACT RETAINING CAP - MAX. LIFE

SPRING HOLDER PROTECTION NUT

SPACER SPRING (FITS OVER CS51952)

SPACER GOUGING

SPACER FOR CONTACT CUTTING (HAND)

SHIELD (MACH.)

EXTENDED SHIELD (HAND) (MAX. 50A)

SPACER FOR EXTENDED TIPS HIGH AMP.
EXTENDED SPACER (HAND)

LOCKING NUT

AIR AND POWER CABLE 6 m (M14X1) HAND TORCH
AIR AND POWER CABLE 12 m (M14X1) HAND TORCH
AIR AND POWER CABLE 6 m (M14X1) MACHINE TORCH
AIR AND POWER CABLE 12 m (M14X1) MACHINE TORCH

PR R RRPRRRPRRPLRRPREPR

[l el el i e = N
OO OO0 OO0 O0OO0O O Ul o N O

aRr PN O

=
o

PP PR, 0o oo oo ol

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

97



€j CRGODAN% PLASMA TORCH PARTS

REPLACEMENT PARTS SUITABLE FOR: TRAFIMET®
ERGOCUT®A 151® / AUTOCUT® P151°®

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.
Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts. .

98



€RGODANI®

7

FOR ADVANCED WELDERS,

PLASMA TORCH PARTS

REPLACEMENT PARTS SUITABLE FOR:

ERGOCUT®A 151®/ AUTOCUT® P151°

TRAFIMET®

ITEM CATALOG NUMBER DESCRIPTION STD. QTY

N/S
N/S
N/S
N/S
N/S
N/S
N/S
N/S
1

1/A
2

N/S

~N o O~ W

10

11
12
13
14

15
16
17
18
19
20
21
22
23
N/S
N/S
N/S
N/S

CSPA1550/1552
CSPA1554
CSPA1551
CSPA1555
CSPA127
CSPA0252
CSPA128
CSPA0253
CSPF160
Cs04280/C
CSPF111
CS03310
CSEA131
CS60080
CSPR111
CSPE103
CSPD109-14
CSPD109-16
PD109-18
CSPD109-30
CSPR116
CSPD111
CSPD117-14
CSPD117-17
CSPD117-19
CSCSPC120
CSBW139
CSCV1105
CSPC103
CSPC103/V
CS51952
CS51911
CS51953
CS51950
CS51951
CSCvo8
CS51974
CSCV09
CS51959
CS04220/S
CS04230/S
Cs04222/s
CS04232/S

HAND TORCH COMPLETE WITH 6 m CABLE (M14X1 - 1/4G)

HAND TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR)

HAND TORCH COMPLETE WITH 12 m CABLE (M14X1 - 1/4G)

HAND TORCH COMPLETE WITH 12 m CABLE (CENTRAL CONNECTOR)

MACHINE TORCH COMPLETE WITH 6 m CABLE (M14X1 - 1/4G)

MACHINE TORCH COMPLETE WITH 6 m CABLE (CENTRAL CONNECTOR)
MACHINE TORCH COMPLETE WITH 12 m CABLE (M14X1 - 1/4G)
MACHINE TORCH COMPLETE WITH 12 m CABLE (CENTRAL CONNECTOR)

70° TORCH HEAD WITH HANDLE
HANDGRIP WITH MICROSWITCH

180° TORCH HEAD

MACHINE HANDLE

O-RING

FRONT INSULATOR

ELECTRODE

INSULATOR SPACER

TIP 1.4

TIP 1.6

TIP 1.8

TIP GOUGING 3.0

EXTENDED ELECTRODE

EXTENDED TIP 1.2 (MAX 50A)

EXTENDED TIP 1.4

EXTENDED TIP 1.7

EXTENDED TIP 1.9

RETAINING CAP

NOZZLE SHIELD

CAGE SPACE

CONTACT RETAINING CAP - FIBER GLASS

CONTACT RETAINING CAP - MAX. LIFE

SPRING HOLDER PROTECTION NUT

SPACER SPRING (FITS OVER CS51952)

SPACER GOUGING

SPACER FOR CONTACT CUTTING (HAND)

SHIELD (MACH.)

EXTENDED SHIELD (HAND) (MAX. 50A)

SPACER FOR EXTENDED TIPS HIGH AMP.

EXTENDED SPACER (HAND)

LOCKING NUT

AIR AND POWER CABLE 6 m (M14X1 1/4G) HAND TORCH
AIR AND POWER CABLE 12 m (M14X1 1/4G) HAND TORCH
AIR AND POWER CABLE 6 m (M14X1 1/4G) MACHINE TORCH
AIR AND POWER CABLE 12 m (M14X1 1/4G) MACHINE TORCH

P RRPRPRRRRRPRRR

[l e e A e S T T = N
OO0 O 000000 UIoNO

O rFr PN O

1

o

Lol el RO BN ) RS2 BN S) RGN )

Ergodani isin no way affiliated with TRAFIMET® .The parts advertised for sale are not genuine TRAFIMET® parts, but are parts made for and by Ergodani.

Reference to TRAFIMET® machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine TRAFIMET® partsin place of Ergodani parts.

99



